BILANS ROBOT ZIEMNYCH odcinka W1 — W2

powierzchnia

$r powierzchnia

objetos¢

nadmiar objetosci

suma algebraiczna

odlegtosé zuzycie na
Kilometr | hektometr —"Y<OP. | nasyp | wykop [ nasyp wykop | nasyp | miejscu | wykop | nasyp wykop nasyp
+ ‘ - + ‘ - mb + ‘ - m3 + ‘ - + -
m2 m2 m3 m3 m3
0,00

0,00 0,11 0,19 0,00

0,06 1,17 8,60 0,47 10,06 0,47 0,00 9,59
8,60 0,00 2,15 9,59

0,00 1,59 4,75 0,00 7,53 0,00 0,00 7,53
13,35 0,00 1,02 17,12

0,00 1,40 5,65 0,00 7,88 0,00 0,00 7,88
19,00 0,00 1,77 25,00

0,07 0,89 4,00 0,28 3,54 0,28 0,00 3,26
23,00 0,14 0,00 28,26
[ RAZEM | 08 | 290 0,8 00 | 283 | 2826




